Y5 — Summer — Block 4 — Step 2 — Count through zero in 1s Answers

Question Answer
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Y5 — Summer — Block 4 — Step 2 — Count through zero in 1s Answers (continued)

Question Answer
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The negative numbers are the same distance from zero as the positive numbers with the
same digit.
a) He has missed out zero.
4 b) After zero, she has continued with the negative partner of the first positive number.
a) 2,1,0,-1
b) -2,-1,0,1
5 ¢) -10,-11,-12,-13
d) -22,-21,-20,-19
a) -2°C
b) 3°C
- c) 1°C
a) 1misabove the surface of the lake, so the fish cannot be swimming there.
7 b) The fish is now swimming at =7 m.
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